(B 7E)

FO7TRIERKRBE RS RERME—

s T=R
BLBERE(RENER) RFRERE(BEF)

& = it 5 154 &P 159 &P ] = it 5 |54 &P
HERR A Al | m| & | 8| 5| % Al & | m| & | &
& = = 5 2] % - & = = @ @
iz 5 J=1 F F F F i1 5 = F F
[HE®:-F- 1D 10 0 10 0 0 0 0 14 10 0 10 0 0
2 |F #&ZF| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
3|& F| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
4 | = | 20 10 0 10 0 0 0 0 14 10 0 10 0 0
5 [ ®# H[ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
6 |l ®| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
714 B 20 10 0 10 0 0 0 0 14 10 0 10 0 0
8 | & #H| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
9 |# K| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
108 E]| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
11|% E| 13 22 12 10 0 0 9 3 8 22 12 10 9 3
12|F = 3 49 39 10 15 0 18 6 2 34 24 10 18 6
13| 8 = 1 73 63 10 6 12 24 21 1 55 45 10 24 21
A 31 21 10 12 9 0 0 14 10 0 10 0 0
151 1 | 20 10 0 10 0 0 0 0 14 10 0 10 0 0
16 | ¥ % 17 16 6 10 0 0 6 0 12 16 6 10 6 0
17| & % | 17 16 6 10 0 6 0 0 14 10 0 10 0 0
18| W] 20 10 0 10 0 0 0 0 14 10 0 10 0 0
191 & JIL| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
20| 8 H 6 34 24 10 0 0 0 24 2 34 24 10 0 24
21| &% M| 16 19 9 10 0 0 0 9 11 19 9 10 0 9
2| & & [ 13 22 12 10 0 0 12 0 8 22 12 10 12 0
2= = 2 67 57 10 24 18 0 15 6 25 15 10 0 15
24| B 9 31 21 10 21 0 0 0 14 10 0 10 0 0
25 % B[ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
26| = # 9 31 21 10 0 0 21 0 4 31 21 10 21 0
27| X R 5 37 27 10 0 15 0 12 8 22 12 10 0 12
| E &E 6 34 24 10 0 24 0 0 14 10 0 10 0 0
2z B[ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
30 [#mFw | 13 22 12 10 9 0 3 0 13 13 3 10 3 0
31| B Hf 20 10 0 10 0 0 0 0 14 10 0 10 0 0
328 #®[ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
33| @ 4 43 33 10 18 0 15 0 6 25 15 10 15 0
dlE B 20 10 0 10 0 0 0 0 14 10 0 10 0 0
35 o 20 10 0 10 0 0 0 0 14 10 0 10 0 0
36|F [ 19 13 3 10 0 3 0 0 14 10 0 10 0 0
37({® B[ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
| & B[ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
(& & [ 20 10 0 10 0 0 0 0 14 10 0 10 0 0
40] 18 [ 6 34 24 10 3 21 0 0 14 10 0 10 0 0
M E B 2 10 0 10 0 0 0 0 14 10 0 10 0 0
2| E B| 2 10 0 10 0 0 0 0 14 10 0 10 0 0
43 | B8 K| 20 10 0 10 0 0 0 0 14 10 0 10 0 0
41K o] 20 10 0 10 0 0 0 0 14 10 0 10 0 0
45 | = &% | 20 10 0 10 0 0 0 0 14 10 0 10 0 0
46 |BEIRE| 12 28 18 10 0 0 0 18 5 28 18 10 0 18
47 | # | 20 10 0 10 0 0 0 0 14 10 0 10 0 0
& B 902 | 432 | 470 | 108 | 108 | 108 | 108 686 | 216 | 470 | 108 | 108

R 24 & 10 B 3 B EREHSFFEHE

WERESHHEZER

XA FTITHED



O BO67E ERWEXE TRk fHESER

@;}f@o .
ITAAN 4
(DEHF) 218 RBRIITFZRISY
N 30R 18 2H 3H 2H | 18 30H N
HER RS IEEIREEIEEE RS A EE N EESEXEY FEEAREEIREES HIERTRE
® 1 ZER KIrFF 25 @
T =38 KBRAT i
2 I%fu/\ ELE 2-0 2-1 E)”L_l'a:—*linﬂ#l;ﬁ 26
< =] 2-0 2-0 =
EIE 2-0 2-0 o 15
+ IR Hitmis wog EWMER 2
5 JbiEIE — 2 0l5zm PO Y — WOE 29
2-1 2-1
=] I 4k |12
s BER =58 KIRE FIR 0
7 FINE 20 21 —— RER
FIE EREE
8 %EI;[ET—[E%E 2_0 2_0 EUE.%L—%I_ EEIJELH%I;IET 32
° LER 518 HEH BRR W
1018 2-0 2-0 , —
10 EEEI;R a=1:! SERRF E%BH.‘-T 34
1 RIE e— 20| zhm e e (L — hEEIE 35
_ 2-0 i _1" 2-1 L
12 'ﬁﬂ]zl'% EEE I ERE i/‘?\%ﬂ 36 @
@ 1 EER 2-0 2-0 EHE v ©
EER RHE
=8 2-0 2-0] e
o MFLR— |20 Ol e EEE
17 BYE —— £ 12 sig| 271 L HEBE 4
i 2-0 2-0
18 BRRR EER BRI MEAR 2
19 IR — 2= 20 —— EWE 4
. ias FER
20 %ﬁ;%,g\ '*ﬁ%% 2-0 2-0 :Fﬁﬁat—*b_i*zgs 44
BE 415 2-0 2-0]| =18
21 lﬁl‘b\*l\ ﬁ’%““—% *Eﬁﬂl_iﬁt :F%I\ 45
22 5&%/% mae 2-0 2-0 Emﬁ%'_ Emﬁzgs 46
23 EEIE 270 | zim EmR -1 MEE g
2- 2—1
® 24 #WZX)IR — e R 4 @
5~ 8 BRI R EH 7 ~ 8L IEfL R E 5~ 6L JIEfL R 8 3~ ARLIERIRE
(10A2RH) (10A3H) (10A3H) (10A3H)
- = =| EIME = =
1~12 FIIE s IR | £5n BN T =R —

oo pENR—A20  gmp—I70  gmg 7T 1270
25~36 BRIRED — s
518 REFR

—RIEfRL O=ER OQO#HR ORRM OGOEER ORKFRE O#FRIE OKXKF 6 FHMR




B67E ERWEXE TRk fHSER

VaN 4
- (DFEXF) 25 RBRIIT=RI¥
. 18 2H 3R 4H 3R [ 28 1H .
ERRA 1B | 208 | SEE pearp ERE | REB | R pEcRE SEE | 2EH | 1EH AERRE
@ 1 FER BRER 25
FEE BERBE
Fad B — —_— _— p—— 3] B
2 RIFR susm| 20 20| mum R ISR 26
s dbimiE— 20 |k wona|  CV—EER o
4 ﬁ?ﬂgﬁ — EmE 2-0 =0 ¥ﬁ;~%|}'§='_ %ﬁi%lﬂET 28
5 REPIE 21| gun T [ — BHIE 29
~ 71 71
6 *EEHII%I;IE: - EEL'E: EREE EJIILIE: 30
, LEE 21 2-1 ELEE 3
HER £ 12
8 RRR —3um 270 2T gna— BNR o
o HEE 271 —sm o MEAE s
10 ,KI%I;IE: _IIK.%I;?!: 2_0 2_0 *$§““§=— 5¢$%I;|E< 34
n tEEE — 470 =sn - wena| 20— mzim o
= 2-1 E'z_’ 2-1 o
@ 12 ZER ——— N I L HER % @
® 13 KIRFF —— 20 20 BER v ©
- KRR BER
4 BRR s 270 270 gup—— APR 3
seyeE |20 0L =ye
5 RIER KIR HER =R
0 BHR ——ann | O TR w0
17 HARE — 271l ame woe| 20 EmEIE 4
2-0 2-1
= = —— =|
18 EIER 5 EE# Wk«
19 HBLE 20 20 TR 43
. EHE HEE
20 *EH 71~ _I*E#I;iaz 2_0 2_0 [[&EI;?E?— BYE 44
g_ |2-0 | I =
21 -%*E/\ EsE - II&EI;R 45
22 IJJﬁZ,% —grhat 2-0 2-0 Zuziq-;l;iat— :%HylﬂET 46
23 FHEIE 270 sup pee [ S— =F8E 4
2-0 2-0
® 2 EER — HRER 48 @
5~ SHTIEHLRE 7~ SHLIBAIREE 5~ B RLIERL R EH 3~ ARTIER R,
(10A2R) (10A3H) (10A3H) (10A3H)
~ B =B 1 = B
-2 FRR | KBRS FRE— 120 ABRIF —] s SER T unen
13-24 KERAF —— BER 2-0 412 B ERBR— 21
~ = ,
25~36 E [ 1B | Es
37~48 I E 1B B
O—RIERL O THER OER#E  © KRF @ HER © EER © BER @ =ZHR i U




D&\\ F670 ER@#ABAZE TRl HEeER
o (F&EE'?) 218 KB 73— /\—HF=Ra—hk
o 30H 18 28 3\ 28 18 30H e
HER RS 1EE | 2@ | gaRrE | E£RE R Rl | o] 2EE [ 1@H HERTRE
D 1 ERS i s [——HENE 17 ©
o 2-1 2-1 .
2 KPR —— o — = IR 18
2-0 2-1
2-0 2-1 =
—=n 2-1 2-0 e
5 :E/s_ :E FEIEI_%L?__EEJL”%’ 21
- 2-0 2-0 —
6 REFR — - S SR 22
_ 2-0 2-0
7 BER ——,_ BEE 2
*Eﬂ% E%E‘t — II&EL-.E: /ﬁﬂ
N = 2_1 2_1 2_0 =]
8 ;qJ%%zs - :EL% I H&EE— — “‘&E/s 24 @
EEE 2-1 2-1 = B
9 ,\Fﬁ,x—mwﬁr - fRER 25 ®
71~ H 71~
- - 2-1 2-1 -
- 2-0 2-0 YN
i1 ﬁfu%—@ug el JtigE 27
- 2-1 2-0
12 TRERFF L — FRAE IR 28
- - 2-1 2-1 =
13 FIFRIL R _—_ LR WaE 29
FX 2_0 2_0
14 REAR —_— cmn| | BRE W
15 EHE ?ﬂ] 270 2 cep— BER 9
=l 71~ 71~
S 2-0 2-1 -
16 SRR — FER 2 Q
5~ S IB AR EH 7 ~ SIIBAT R 8, 5~ 6B AL R 28, 3~ AL IERIR T
(10A2RH) (10A3AH) (10A3AH) (10A3H)
- REE s RERB——mma ORUR e, AUR—@WE
o~16 FIFRILIE ' 2-1 EER 2-0 g — 21 FER - 2-1
17~24 FE)I[IR s |8
25~32 *Elﬂ,q 2-1

—RFlatz

ORE#H QFER QHER OEER GOnXR/IR OFRFAR OHER @=xMR




N\ F67h ER#BAE TR HAER
o (RFXT) 218 BT —/A—HF=Za—F
. g 30H 18 2H 3H 2H 18 30H . a
HERRE 1EE | 2@ | gaRrE | E£RE R Rl | o] 2EE [ 1@H HE R
1 FHEF o o == | =l
© v SRR SR FEA =
2-0 2-1 _
2 EER N N S[EIE 18
= SRR FER e
2-0 2-
3 BRE — 5F8 19
HE R EisE =F
2-0 2-0
4 IE\ o o I :t,Es 20
& RARAT FER &
2-0 2-
5 wE — — FIE 21
tma ZER BIE el
_ 2-1 2-0
.;3“. =15 a& B
6 &yils i%EIHE,E\ *D%kllll;% E“I/s 22
2- 2-0
7 BWWE " - REARIE 23
131'235 /E\ i:‘ﬁ%ﬁ *ﬂ;kllg;n
s BER - _ 2-1 N Y R 24
AER smam| ) |Ema A
2-0 2-0
9 HIZS — IR 25
eI AL a1 RIS ®
2-1 2-1
Y |= [ —— . B
0 FER LIS, A8 AR 20
2— 2-1
11 e — _ R — =Ny
R[] shigm EHE e
2-1 2-1 _
12 ; i /E\_ —_ & /E\ 28
R &1L R tat
15 fFAR 2- 270 BiRE 2
N AR
_ 2-1 2-0
14 EEE —— . . — R 30
s smm R PRER
2-1 2-0 .
15 ZERIE — e BEER s
mERR o] = BRI
. 2-0 2-0 —
@ 16 Fring — HEE 32 @
5~ 8B R TE B 7 ~ SHLIERL R EE; 5~ 6L B R E 5 3~ AL |IB LR TE Bk
(10A2H) (10A3H) (10A3H) (10A3H)
=5 15 EIR HRR———gmE BEE BB ] 1L R FzE
~16 FTiRIR 2-1 WO.  zmg 20 Fzr— 2-1
GEREEHED=5)
17~24 FIFRILE L))
25~32 F 4N IE W.0.

4

4

(BFERDEH)

—RFlatz

OR#HHF QHEFE OMIMLUE DHZEIR

GOEME OHER OHRBR OFXER




